
CEINTURE verte 
entrainement 1 

 3 223 : 2 
5 946 : 3 
7 339 : 41 

2 174 : 12 
1 278 : 10 
7 576 : 31 
 

CEINTURE verte 
entrainement 2 

 8 542 : 3 
1 428 : 5 
6 610 : 22 
 

4 258 : 12 
2 596 : 17 
5 639 : 26 

CEINTURE verte 
entrainement 3 

 8 854 : 3 
4 531 : 2 
7 482 : 32 
 

6 197 : 29 
4 207 : 23 
5 343 : 41 
 

CEINTURE verte 
entrainement 4 

 7 079 : 3 
6 456 : 2 
3 699 : 25 
 

9 901 : 34 
6 863 : 42 
4 551 : 13 
 

CEINTURE verte 
entrainement 5 

 4 799 : 3 
5 378 : 5 
4 907 : 19 
 

1 874 : 17 
2 536 : 11 
4 447 : 23 
 

CEINTURE verte 
entrainement 6 

 3 861 : 2 
6 778 : 4 
4 869 : 33 
 

9 032 : 25 
4 547 : 12 
7 831 : 37 

CEINTURE verte 
entrainement 7 

 7 259 : 4 
5 484 : 3 
8 398 : 28 
 

6 041 : 51 
2 599 : 12 
5 701 : 44 

 

CEINTURE verte 
entrainement 8 

 3 822 : 2 
4 789 : 3 
8 208 : 40 

 

1 784 : 11 
8 163 : 29 
3 879 : 36 
 

CEINTURE verte 
entrainement 9 

 1 699 : 2 
5 178 : 3 
2 855 : 18 

4 651 : 26 
6 833 : 45 
2 798 : 14 
 

 

 

 

  

   

 

  

   

 

  

 

 

 

 

  



CEINTURE verte 
correction 1 

 3 223 : 2=1611 R=1 

5 946 : 3=1982  

7 339 : 41=179 

2 174 : 12=181 R=2 

1 278 : 10=127 R=8 

7 576 : 31=244 R=12 

 

CEINTURE verte 
correction 2 

 8 542 : 3=2847 R=1 

1 428 : 5=285 R=3 

6 610 : 22=300 R=10 

 

4 258 : 12=354 R=10 

2 596 : 17=152 R=12 

5 639 : 26=216 R=23 

CEINTURE verte 
correction 3 

 8 854 : 3=2951 R=1 

4 531 : 2=2265 R=1 

7 482 : 32=233 R=26 

 

6 197 : 29=213 R=20 

4 207 : 23=182 R=21 

5 343 : 41=130 R=13 
 

CEINTURE verte 
correction 4 

 7 079 : 3=2359 R=2 

6 456 : 2=3228  

3 699 : 25=147 R=24 

 

9 901 : 34=291 R=7 

6 863 : 42=163 R=17 

4 551 : 13=350 R=1 

 

CEINTURE verte 
correction 5 

 4 799 : 3=1599 R=2 

5 378 : 5=1075 R=3 

4 907 : 19=258 R=5 

 

1 874 : 17=110 R=4 

2 536 : 11=230 R=6 

4 447 : 23=193 R=8 

 

CEINTURE verte 
correction 6 

 3 861 : 2=1930 R=1 

6 778 : 4=1694 R=2 

4 869 : 33=147 R=18 

 

9 032 : 25=361 R=7 

4 547 : 12=378 R=11 

7 831 : 37=211 R=24 

CEINTURE verte 
correction 7 

 7 259 : 4=1814 R=3 

5 484 : 3=1828 

8 398 : 28=299 R=26 

 

6 041 : 51=118 R=23 

2 599 : 12=216 R=7 

5 701 : 44=129 R=25 

 

CEINTURE verte 
correction 8 

 3 822 : 2=1911 

4 789 : 3=1596 R=1 

8 208 : 40=205 R=8 

 

1 784 : 11=162 R=2 

8 163 : 29=281 R=14 

3 879 : 36=107 R=27 
 

CEINTURE verte 
correction 9 

 1 699 : 2=849 R=1 

5 178 : 3=1726 

2 855 : 18=158 R=11 

4 651 : 26=178 R=23 

6 833 : 45=151 R=38 

2 798 : 14=199 R=12 

 

 

 

 

  

   

 

  

   

 

 

 

 

 

 

 



CEINTURE verte 

 

7 079 : 3 
6 456 : 2 
3 699 : 25 
 

4 258 : 12 
2 596 : 17 
5 639 : 26 

 

 

 

 

 

CEINTURE verte 

 
 

4 799 : 3 
5 378 : 5 
4 907 : 19 
 

1 784 : 11 
8 163 : 29 
3 879 : 36 

Pour obtenir ta ceinture, tu doi$ 
réaliser ce$ calcul$ san$ erreur. 

CEINTURE verte 

 8 854 : 3 
4 531 : 2 
7 482 : 32 
 

4 651 : 26 
6 833 : 45 
2 798 : 14 
 

Pour obtenir ta ceinture, tu doi$ 
réaliser ce$ calcul$ san$ erreur. 

CEINTURE verte 

 

3 223 : 2 
5 946 : 3 
7 339 : 41 

 

6 041 : 51 
2 599 : 12 
5 701 : 44 

 

Pour obtenir ta ceinture, tu doi$ 
réaliser ce$ calcul$ san$ erreur. 
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Pour obtenir ta ceinture, tu doi$ 
réaliser ce$ calcul$ san$ erreur. 
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